Sociology 3 Critical Thinking 
Instructions for Paper 1--Opinions on Abortion (40 points max)

The first paper will use data from the 2002 and 2004 General Social Surveys on American opinions on social issues (gss0204_subset_for_classes.sav).  For this exercise, data from the 2002 and 2004 surveys have been merged.  Abortion is the issue that we have selected for this exercise.    
Part 1.  Exploring how people feel about abortion.

There are seven questions in the GSS that ask people how they feel about abortion – abany, abdefect, abhlth, abnomore, abpoor, abrape, and absingle.  Run frequency distributions (use Descriptive Statistics/Frequencies under Analyze in SPSS for each of these variables) and construct a table showing what percent of respondents think that abortion ought to be legal for each of these seven scenarios.  Arrange the seven scenarios from high to low in terms of the percent who think abortion should be legal.  Use “Tables” in Word to create your table.  You’ll notice that there are two clusters of results.  For three of the scenarios, between 74% and 88% of the respondents think abortion should be legal.  For the other four scenarios, only 40% to 42% think abortion should be legal.  What do you think explains this finding?

Part 2.  Choosing your dependent variables.

The dependent variable is what you want to explain.  In this exercise, we want to explain why some people think that abortion should be legal and others think it shouldn’t be.  We want to choose a dependent variable for which there is a lot of variation.  For example, only 12% think that abortion shouldn’t be legal if the mother’s health in endangered.  There isn’t much to explain here since almost everyone agrees.  This wouldn’t be a good choice for a dependent variable.  Therefore, choose your dependent variable from those variables where there is more variation.  These variables include abnomore, abpoor, abany, and absingle.  Decide which one of these four variables is going to be your dependent variable for this exercise.  You don’t have to write anything here; just think about it.

Part 3.  Choosing your concepts.

The independent variable is what you think will help explain the variation in your dependent variable.  Let’s list some of the concepts that might help us explain why some people think abortion should be legal and others think it shouldn’t be.  Here are some possibilities.

· Gender

· Class

· Education

· Religiosity

· Political views

Think about why these concepts might be related to how people feel about abortion.  You don’t have to write anything here; just think about it.

Part 4.  Choosing your measures.

We need to choose measures of each of these concepts and these measures must be available in our data set.  We’re going to use the following measures.

	Concept
	Measure

	Gender 
	SEX

	Class
	CLASS

	Education
	DEGREE

	Religiosity
	RELITEN

	Political views
	POLVIEWS


Run a frequency distribution (using SPSS) for each of these variables.  Write one or two sentences for each variable describing what the table tells you.  Select three of these five variables for further analysis in the rest of your paper.
Part 5.  Constructing your hypotheses.

Using the three independent variables that you selected in part 5, develop hypotheses for your dependent variable.  For example, if you selected SEX, then your hypothesis would consider the relationship between sex (SEX) and your dependent variable.  (Would you expect men and women to answer similarly or differently from each other?)  Do this for each of the three independent variables that you selected.  A hypothesis should be only one or two sentences.  Remember that clarity is essential.  You should clearly state your three hypotheses.
Part 6.  Constructing your arguments.

For each of these hypotheses, present the argument that supports your hypothesis.  Remember that your hypothesis will be the conclusion to your argument.  For each argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators.  Do not circle anything that is not an inference indicator (e.g., “and”).  Bracket and number all claims.  Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class. 

Part 7.  Constructing your dummy tables.

Construct a dummy table showing what the tables would look like if the hypotheses were supported.  Use “Tables” in Word to construct the dummy tables.
Part 8.  Running your tables in SPSS.

Use SPSS to produce three two-variable crosstabs for your hypotheses. You’ll have one table for each hypothesis.  Remember to request the appropriate percents for your tables. 
Part 9.  Interpreting your tables.

Interpret each table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the tables.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  
Part 10.  Conclusions

What did you learn about how people feel about abortion?  Which variables help us explain why some people think abortion should be legal and others think it shouldn’t be?  Are some of these variables more strongly related to how people feel about abortion?  Which ones?  How do you know?

Example

To illustrate what you will be doing, let’s use another dependent variable as an example (i.e., one that you won’t be using in this exercise).  PORNLAW refers to how a person feels about laws governing the distribution of pornography.  Do the respondents think that pornography ought to be illegal only to people under the age of 18 or should it be illegal to all people regardless of their age or should it be legal for everyone.  

Let’s look at the relationship between the strength of a person’s religious affiliation and how a person feels about the distribution of pornography.  We’ll start by developing a hypothesis.  The stronger a person’s religious affiliation, the more likely they are to feel that pornography ought to be illegal for everyone regardless of their age. However, the weaker the person’s religious affiliation, the more likely they are to feel that pornography ought to illegal only for those under the age of 18.  Imagine that you have told your hypothesis to a friend and your friend asks “Why?”  You need to develop an argument to explain why you think your hypothesis is true.  What is the link between a person’s religious feelings and their opinion about pornography? Why should more religious individuals be more likely to think that pornography should be illegal for everyone?  

Once you have developed your argument, then you need to construct a dummy table showing what the relationship between RELITEN and PORNLAW should look like if your hypothesis is true.  Use “Tables” in Word to construct a table like the following table.

	
	RELITEN

	PORNLAW
	Strong
	
	Somewhat strong
	
	Not very strong
	
	No religion

	Illegal to all
	a
	>
	b
	>
	c
	>
	d

	Illegal under 18
	e
	<
	f
	<
	g
	<
	h

	Legal 
	i
	
	j
	
	k
	
	l


Notice that the dummy table shows that as the strength of a person’s attachment to their religion decreases (i.e., goes from left to right), the percent who feel that pornography ought to be illegal to everyone gets smaller.  But as a person’s attachment to their religion decreases, the percent who feel that pornography ought to be illegal only to those under the age of 18 gets larger.  Also notice that the hypothesis says nothing about people feeling that pornography ought to be legal for everyone so that row is left blank.  In fact, very few people feel that pornography ought to be legal for all.  

Now that you have constructed your dummy table, it’s time to find out what the relationship actually looks like. To do this you will need to run Crosstabs in SPSS.  Crosstabs is found under Analyze/Descriptive Statistics/Crosstabs. Your independent variable should always be the column variable and your dependent variable should be the row variable.  You also need to be sure to include the appropriate percents.  Since the independent variable is the column variable, you want the column percents.  Here’s the table that you should get to test this hypothesis.
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All that is left is to interpret the table.  Since the independent variable is the column variable, we had SPSS compute the column percents.  It’s important to compare the percents across.  It’s clear that the more religious people are, the more likely they are to think that pornography ought to illegal to all.  But the less religious they are, the more likely they are to think that pornography ought to be illegal only to those under 18.  For example, 51% of those who are strongly religious think pornography ought to be illegal to all, while only 22% of those who have no religion think that it should be illegal to everyone.  But 71% of those who have no religion think pornography ought to be illegal only to those under 18, while 45% of the strongly religious feel this way.
Does this support your hypothesis?  Compare the dummy table with the table you got from SPSS.  The pattern is exactly what you expected to find if the hypothesis was true.  So the data support the hypothesis.  Remember not to make too much out of small differences.  The reason we don’t want to make too much out of small differences is because of sampling error.  No sample is a perfect representation of the population from which the sample was selected.  There is always some error present.  Small differences could just be sampling error.  So we don’t want to make too much out of small differences.
Summary of your paper

Here is what you are going to hand in for your first paper.

1. From Part 1, hand in the table (constructed in Tables in Word) showing what percent of respondents think that abortion ought to be legal for each of the seven scenarios and your discussion of what explains these findings.

2. There is nothing to be handed in for Parts 2 and 3.

3. From Part 4, hand in the frequency distributions (from SPSS) for each of your three independent variables.  Be sure to include the appropriate percents.  Write one or two sentences for each variable describing what the table tells you.

4. From Part 5, hand in your three hypotheses.

5. From Part 6, hand in your three arguments.

6. From Part 7, hand in your three dummy tables (constructed in Tables in Word).

7. From Part 8, hand in your three SPSS tables that test your hypotheses.  Be sure and put the independent variable in the column and get the column percents.  

8. From Part 9, hand in your interpretation of the three tables from Part 8.  Interpret each table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the tables.  
9. From Part 10, hand in your conclusions.  What did you learn about how people feel about abortion?  Which variables help you explain why some people think abortion should be legal and others think it shouldn’t be?  Are some of these variables more strongly related to how people feel about abortion?  Which ones?  How do you know?

Be sure to include all parts of these instructions. 
Your paper should be prepared using a word processor.  Double space, except for the tables.  Use one-inch margins and 12-point type.  Number the pages.  Please do not put your paper into any type of binder.

The papers will be read and graded by the instructor using several criteria.  These criteria include the extent to which the papers use and show understanding of how to develop and diagram arguments and how to construct and interpret tables.  Other important criteria are the extent to which the paper is logically organized and the quality of your writing.
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